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Question Number : 1 Question Id : 3354727931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the INSAT-1B satellite successfully launched? | 587 1 300 F1 T o § Shad s waioT
ST TTT 4177

Options:

1. % 1981
Z ® 1982
3. ¢ 1983
4. % 1924

Question Number : 2 Question Id : 3354727932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Sonai Rupai Sanctuary situated? | THE U8 SFART 5T 74 H 9T 27

Options:

1. ¥ Assam | A

2. % Meghalaya | HaTeT
3. % Manipur | Ti0E

4 % Tripura | By

Question Number : 3 Question Id : 3354727933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of testh is used for grinding food? | ToFrT W & a1 &7 IUANT G &1 U # Torar amT a7

Options:

1. % Molar | 2%

2. % Incisor | @ d@

3. ® Canine | g%

4. % Milk teeth | g & g

Question Number : 4 Question Id : 3354727934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Eharativa Jana Sangh was founded in the year______ .| AT 1T A T T

Options:
1. % 1948

2. % 1949
3. % 1950
4. ¥ 1951

Question Number : 5 Question Id : 3354727935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Environment Day’ is celebrated on __________ of every vear. | ‘T voiaro e vy ___ E)
AT AT 5

Options:
1. % Sth June | = S
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2. % 2nd June | 2 97
3 % 3rd June | 394
4. % Gth June | 6 5

Question Number : 6 Question Id : 3354727936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Chairman of the National Human Rights Commission is appointed by the: | Y8 AR SO 9 a129
Ca BT V=g T AT 21

Options:
1. ® Prime Minister | W= 747

2. ¥ President | TTgdf

= % Vice President [ JUTEHE
4 # Council of Ministers | AEHST

Question Number : 7 Question Id : 3354727937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
August 9is observed as the anniversary of which famous movermnent during the Indian Freedom Struggle? | 9

AT A 1 Taa 34T SUTH & ST T Ui, AR o TS & =0 7T 79T |
Options:

1. % CQuit India Movernent | ART Bial STHE e

2 % Non-Cooperation Movernent | STgan STz e

3. % Salt Satyvagraha [ TAE G405

4. % Khilafat Movemnent | TR AFEIAT

Question Number : 8 Question Id : 3354727938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Union Public Service Cormrnission of India has been established under the Article of the Constitution.

| T T T S AT AT ETe S ¥ oty el BT TROE
Options:

1. ¥ 315

2 % 234

3% 421

4. % 5§

Question Number : 9 Question Id : 3354727939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNarre the Indian who co-founded Hotrrail. | 38 WA = &1 A0 Sd10 M gloHe i Hg—GHIuT @

Options:

1. ® vishal Sikka | Tama g

2. ¥ Sabeer Ehatia | @& #1247

3. % Mark Zuckerberg | Wk e

4. % Satva Nadella | dod 92100

Question Number : 10 Question Id : 3354727940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

13th Decl7 Shift 2



13th Dec17 Shift 2

Correct: 1 Wrong: 0
‘Mangalyaan’ is the narme of

Options:

1.p ® India’s Satellite Launching Vehicle | ST &7 J00F T4 21
2. ¢ India’s Mars Crbiter Mission | AT & AT F140 Hae

2. ® India’s Mission to Moon | 9T T I8 Ha=

4. # India’'s Navigation Satellite | ART &7 T JU0g7

Question Number : 11 Question Id : 3354727941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich state in India has the lorgest railway line in route Metwork) kms? | AT o o0 T=g § & AT #§ T8 aw=’
el ATEA (Heddn U 8

Options:

1. % Maharashtra | AERTE

2. % Madhya Pradesh | T o
=, ¥ Uttar Pradesh | 39% 0a4T

4. % Rajasthan | Trea

Question Number : 12 Question Id : 3354727942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rajwada palace is located in

Options:

1. % Indore) 22T

2. % Gualior| TR
% % Ujjain| 3=

4. % Ratlam/ W

Question Number : 13 Question Id : 3354727943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Baz Bahadur palace is at

Options:

1. ¢ Mandu | T Z
2 % Ujjain | 3944
% % Indore | 2310

4, % Rewa | TH&ET

Question Number : 14 Question Id : 3354727944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which districts come in the Shahdol division? | S G9m H ®19 § e amd 87

Options:

1. ® Katni, Satna | el Gq47

2« anuppur, Shahdol, Umaria | SR, TEE o, JAET
% % Katni, Damch | 120

4. % MNone of the above | 290 T F12 751
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Question Number : 15 Question Id : 3354727945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the ‘Dhuniwale Dada ki Samadhi’ located at? | e[fFaTet 1aT &1 FTrer Fg7 e 27

Options:
1. ® Harda | g¥ar
= ¥ Khandwa | "=d7

3. % Sheopur | JT
4 % Shivpuri | T9Eger

Question Number : 16 Question Id : 3354727946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which one of the following places in Chhindwara is the hot water kund (ot springs) located? | oz d
T Tt § € B g o T o 9 g (T Saaa i) e e

Options:
1. ® Tarnia | amw=Em
2 ® Patalkot | TTATASRRE

= ¥ Anhoni | FgET
4. % Babeha | s=l1gT

Question Number : 17 Question Id : 3354727947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich O%?the following is the birthplace of Chandra Shekhar Azad? | FEERET # € @9 97 a8/ =1 @7
~eHET &

Options:

1. ® Harda | g¥ar
2. % Bhavra | HlexT
3. % Kabra | ®TeNT
4 % Pithora | ol

Question Number : 18 Question Id : 3354727948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following cities in Inu::ha is gopularlg.r known as the city of Lord Fashupatinath? | Feea 84
I AT AR T AT, W FUia T & J57 & &

Options:

1. # Bhopal | \iTe

2. ¥ Mandsaur | H2gw
% % Sidhi j &t

4. % Datia | g&4

Question Number : 19 Question Id : 3354727949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the name of India’s first subsonic cruise missile tested in Movermber 20177 | Ada€ 2017 H qoiygor & mg
WX T ORei! FelaTi-1 g THHTSe BT A0 F7 27

Options:
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1. % agni | a1y

2. ¥ HNirbhay | i
% % Prithvi | gt
4. % Vayu | 9

13th Dec17 Shift 2

Question Number : 20 Question Id : 3354727950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The new banlk note of Es. 200 denornination issued in 2017 has motif of

200, & A o 1T P Iee] FCA O ____ HFler Sl AT g

Options:

1. ¢ Sanchi Stupa | 9= T

2. % Taj Mahal | T H5el

Z. % Hampi Monuments | /T TARE
4. % Rashtrapati Ehavan | T9gdid 9a-

on the reverse. | 2017 § =T

eneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472259
2

Online
Mandatory
20

20

20

Yes

No

1
335472259
Yes

Question Number : 21 Question Id : 3354727951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& ran’s age is four times that of his son. In 20 years, he will be twice a5 old as his son. What are their present

ages? | U STGHT 1 ST I9F T3 &1 A} A1 & 72T 20 J97 § aF 210 03 & 1 T ST 5 34 g1 &1 ad AT 21 T4 57

Options:

1. ® 1S vears, 60 years | 15 @8, 60 a9
2. % Syears, 25 years | 5 A9, 25 a9

= ¥ 10 vears, 40 years | 10 78, 40 a9
4, % 12 years, 45 years | 12 74, 48 a9

Question Number : 22 Question Id : 3354727952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Multiply: / 3[OTel &Y :
S5x% — 8xv+ 6v: —3 By 3xy

Options:

| ® 15x3y — 24x%y — 18xy® — 9xy

5 % 15x%y — 24x%y? + 18xy? — 9xy

15x%y — 24x%y? + 18xy® — 9xy
5 ) ) ¥ )

4% 15x%y + 24x2y? + 18x%2y — 9xy

Question Number : 23 Question Id : 3354727953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of the form 74232 is divisible by 15, then & is: | 74332 T TET 18 § i %1 qel A

Options:
1. %5
o 87
z %9
4 93

Question Number : 24 Question Id : 3354727954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the figure, angles at A, B and C are 90°. Also BD =BE. If ZBEA = 25°, then £CDE is equal

to_ ./ O @ FIoT A.B U4 C 90° §, O BD=BE | af¢ 2BEA =25° dd «CDE

= B
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1202

Question Number : 25 Question Id : 3354727955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4.2-(2.2-2.3) =7
Options:

1.¥v 323

2 %473

3. % 033

4. % 33

Question Number : 26 Question Id : 3354727956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | &Ha d &

23, 42, 15, 20, 25
Options:
1.9 25
2 % 24
3. % 23
4 % z0

Question Number : 27 Question Id : 3354727957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fohan wants to devise 4 E—digi:t@ljassmrd for his new project. How marny such choices does he have to devise

the new password? | T1gT TN o T/ 6 i & OTeae 39T ST ITgaT gl =37 UTae a1 o 60 Se 0

o

Options:

1. ® Blakhs | 6 &g
= % 7lakhs | 7 @@
3. % Zlakhs | 374

4. ¥ 9lakhs | 9 &
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 28 Question Id : 3354727958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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In the given parallelogram, find the value of x. / T 1T AT ﬂﬁﬁiﬁ[ H, X @l AT
EIGECTY

15

2x-3
Options:
1. %3
2 %5
3. 99
4. % g

Question Number : 29 Question Id : 3354727959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x°- 8x*+ 16x + 3x% — 22x + 19 is divided by x — 4, then what is the remainder? / I7¢ x*- 8x*

+ 163 +3x2 - 22x + 19 & x — 4 G@RT Taonifadad fFam ST, ar duwe &= §?

Options:
1.9 -21

2 %21
2% 19
4 % -13

Question Number : 30 Question Id : 3354727960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

&, B, and C enter into a partnership. & invests Fs. 25 lakhs initially and adds another Rs. 10 lakhs after 1 year.
E inwvests BEs. 25 lakhs iﬂitiELll‘j.T and ‘.-'-.i"ithdI”El“i.-'-.F‘.:'l' Es. 10l1akhs after 2 Vedrs. i iI'ﬁfEStS Es. 20 l1akhs. What fraction
of the profit will C get after 3 years? | A, B U C ¥ Uw WTIal # Veler ToFem A < WRW # 25 w1 w0 o Toyelsr foparm e 1
Y TS S 10 FE E0 S Ta B A WA H 35 F7 wud et fopa ot 2 ad ward 10 7 g A o T C, 30
T BT T Talsr T 21 3 o Wi C FIT T TRRaT aisr UTe e

Options:

1. % 19/E&

Z % 19/Z28

3. ¥ 928

4 ® 1728

Question Number : 31 Question Id : 3354727961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The occupancy percentage of a hotel is 88% for the three surmrner months and 44% for the rest of the year.

What is the avera CCupElI‘l ercentage for the whole vear? | e gl | THT o 19 AR 141 o TetT Srferai widaa
SE% T T sﬁraﬁf 44% 71 H@?aﬁﬁﬁqmaﬁﬁmﬁmw%?

Options:
13th Dec17 Shift 2
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1. % 50%
2. ¥ 55%
3% o6k
4 % 70%

Question Number : 32 Question Id : 3354727962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B4+0+Ex3-3="
Options:

1.%0

2. ¥c

%8

4 % 11

Question Number : 33 Question Id : 3354727963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Subhash is youniger than Ravi by S years. If their ages are in ratio of 4:5, then how old is Subhash? | amE, T

S Ty Fler gl Al JART AT 4:5 & AT H 7, q7 G HT 21 pa-T g7
Options:

1.9 20 vears | 20 a9

2. % 1Svyears | 1599

% % 2Svears | 25 99

4. % Mone of the above | T8 & ®1E 751

Question Number : 34 Question Id : 3354727964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If two cars travel 160 kmand 120 kmin 10 hours and & hours, respectively, then their ratio of average speed

is: | I ST 160 Tordt Fom 120 Tt FT o Faer 10 9 727 S 0 H Fd 1§, T ST siea i 7 S0 &
Options:
1.9 23
o % 43
3 % 45
4. % g1

Question Number : 35 Question Id : 3354727965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 2537015 represented as a repeating decimal, then the 2017th decirmal position is

UARTEd | Sed o & et e g, a1 20174 o ed
Options:
1. %0
2 %7
z % g
4 ¥ 5

.| At 25(370 W
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Question Number : 36 Question Id : 3354727966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The perimeter of a rhombus is 100 cm and one of the diagonals is 48 cm. The area of the rhormbus in 5q.cm.

is___. | SIS @ OET 100 6§ a9 T § § 0w 48 96T 81 srfett o S @1 gamd
Options:
1. % 34

2. % 168
3. ¥ 336
4. % 175

Question Number : 37 Question Id : 3354727967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The square root of 55225 is: | 55225 &1 A %‘:

Options:

1. % 525
= ¥ 235
3. % 535
4 #® 2325

Question Number : 38 Question Id : 3354727968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1032 * 997 =7

Options:
1. # 1028804
2 ® 1023894

39 1028904
4 % None of these | g8 @ &1 981

Question Number : 39 Question Id : 3354727969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the last digit of 2372% x 78%00_/ 2372% x 78%00 @71 HfAH 31 AT
Options:
1. %7
2 % 3
3. %0
4 ¥ 3

Question Number : 40 Question Id : 3354727970 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The salary of a man, which was Es. 500 earlier, increases to Bs. 600, What is the percentage change in salary?

| T Q& T ofd= A1 o Ugel SO0 T o, aga 600 B0 5 TN od- # uitad A &1 widaaar w2 g7
Options:

1. % 16.66%

= % o105
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3.9 20%
4 % 15%
General Hindi

Section Id : 335472260
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472260
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tt o \efw & T aret aefe swE FEAET 2]

Options:
1. % TEw
2. ¥ g
3 % Ad
4. % Fuf

Question Number : 42 Question Id : 3354727972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Teaa T el & -

Options:

1. % goe aqe

2. % gud AT
3. % JET TR 0
4. ¥ JEF g e,

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 43 Question Id : 3354727973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

O aree it Tt wmrsit & soRe ST # it g ¥ O aem B
Options:

1. Toosf

2 % gu

3 % goaq
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4. ® Togd

Question Number : 44 Question Id : 3354727974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STy T 2 E -

Options:
1. %

2. % gaa
3. ¥ AT

4 ¥ Oz

Question Number : 45 Question Id : 3354727975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gt o eadE a1 o anfe-Taede aeat F7 87 FEaeT A

Options:

1. % gae
2. ¥ geg g
3. * gae
4. % HiEr

Question Number : 46 Question Id : 3354727976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ty =T vl g § 9 @i | ge
Options:

1. % &eE

2 % gyuid

3. % gt

4. & T

Question Number : 47 Question Id : 3354727977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T T A ATAT o T U s T A S @ AT Ey

Options:

1. % ST
2. % amf
3. ¥ amy

4. % oA

Question Number : 48 Question Id : 3354727978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ha BT A e P A g A arg?
Options:

1. % g4z

2 % gorHId
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2% HWE+UdT
4 % H@aT+UT

Question Number : 49 Question Id : 3354727979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

qET F A e R S Ea AT g
Options:

1. & FEq

2. ® wgeq

3 % e

4 & gy

Question Number : 50 Question Id : 3354727980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘g JuET & & ey g A e B
Options:

1. % g

2. ¥ gEa

3% Zq

4. % Zaer

Question Number : 51 Question Id : 3354727981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fig-urddt e # MR H @ AT A 27

Options:

1. % ety gare
2. ® U o
3. ¥ ZZ AR

4 % TorEmEE

Question Number : 52 Question Id : 3354727982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST TEAT Heren &1 o Fg # A s arg?
Options:

1. % Ot @Rl O vEAr

2 % I g

3. TeAd g

4. % Fgd GAFAT

Question Number : 53 Question Id : 3354727983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ST T g & 9 H F @ g7

Options:
1. % g=%
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E.QEFI'IT
S ¥ gEr
4 ® g

Question Number : 54 Question Id : 3354727984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

"3 a1 % g H, Hehe oo i A

HUT 99T 1 o5 o1 SR, 15 o T S A T 1|
T ORI | T H @ AT By

Options:

1. % g™

z.wfeqﬁ‘crm
z ¥ Aoy

4. % i

Question Number : 55 Question Id : 3354727985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HT e & gg@ i, odf T A+ -2l
A G ST w1 2w, 0 dE qaag)|
H I AT ST 5] TEl ek o i0?

Options:

1. & STy SEF
2. ® &7 AAw
3. % SIgUTe SIEET
4, % JUAT STFAET

Question Number : 56 Question Id : 3354727986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JUH THAT Meg gy - difdw
Options:

1. % apitid®

o % wETiE

z % giieEir

4 & reTicA®

Question Number : 57 Question Id : 3354727987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g # & g e @i gy -

Options:

1. % it # 92 g wa SET A B
=, % g oo v Tt | S I )
2 % SuEd Iy g e | W g v
4, o i | o AT wIA )
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Question Number : 58 Question Id : 3354727988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tl fove el H qoqeY JHTH W 350 | -
Options:

1. & FIeamt

o % ZiET

3. TeT-ger

4. % g

Question Number : 59 Question Id : 3354727989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gl Gl deal & @ IS TR g -
Options:

1. % fgg -3

2. % gov - a7

2 % ard-siT

4 & =iy

Question Number : 60 Question Id : 3354727990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“TadE TogT © & B JAm @7 JeEam &7
Options:
1. Ty Ao
2 % Iz aue
3. ® JqgET gAE
4. % iy gug
Rural Economy and Panchavati Baj
Section Id : 335472261
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 335472261
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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What is the name of the prograrmme being implemented for control of pests? | @it & o & B0 #@iag
T T ATH F47 57

Options:

1. ® Integrated Pest Eradication Scherne | TRRIgT ®ie I-m- a1

2. % Integrated Pest Destruction Yojana | THigd wie 18 T=-T

= ® Integrated Pest Prevention Frogramume | USigd @ie CEdTH HHEd
4. ¥ Integrated Pest Management Programme | Thigd Hie Tareld HTwmy

Question Number : 62 Question Id : 3354727992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Government of India announced the National FPolicy for Farmers in

.| AT e frert o Ty et it

Options:

1. % 1998
o % 2004
3 ¥ 2007

4 ¥ 2014

Question Number : 63 Question Id : 3354727993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Madhva Pradesh is the largest producer of which of the following? [ 7es w2y FFgfaET # & g =i &7 9ed 927

ARG 27

Options:

1. % Sova Bean | 9T
2. % Sugar Cane | TgT

3 % Cnion | ==

4 ® Gram | =T

Question Number : 64 Question Id : 3354727994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The rmain function of NABARD is | ATeng ®1 & 1 =4 &

Options:

1. # Granting crop loan to farmers | BRaET &1 B 00T W21 HAT
2 % agriculture research | FY SFETT

% % Providing rural employment | THT TRTR B2 $AT

jﬁ ' Facilitating credit flow for promotion and development of agriculture | i % =W &fiT & & 5o 300 memg
AT

Question Number : 65 Question Id : 3354727995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Noor jahan’ is a rare variety of _______ cultivated in Madhya Pradesh. | 87 _______ T U el WAT 3 Forereh!
W T A AT H T AT T )

Options:
1. ® Wheat | Tig
2 % Chilli j Ti=f
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2. ¥ Mango | AW
4. % Guava | TAES

Question Number : 66 Question Id : 3354727996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mational Eural Health Missicon has beerl launched in the country since

W AT o T 7

.| TP T EeTe e o

Options:

1. % April 2010 | &, 2010
2. ¥ April 2005 | &4, 2005
3. % April 2006 | &, 2008
4. % april 2008 | aWa, 2008

Question Number : 67 Question Id : 3354727997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many times was the Madhya Pradesh Panchayati R?';ct, 1993 amended between 1994 and 19997 | 7
u%;aruzrm%maﬁﬁaq 1993 T Qe 1994 31T 1999 & sl T+ o garm 217

Options:

1. % 11times | 11 9%
2 % Etimes | B9
2% 14times | 14 9%
4 % Ztimes | 2FX

Question Number : 68 Question Id : 3354727998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Fradesh Fajya Beej Evarn Farm Vikas Migam Adhiniyam Act was enacted in
= A 0 w1 e A artarteam " o =T 4m

Options:
1. ¥ 1971

2. ¥ 1930
3. % 1993
4. % 2003

Question Number : 69 Question Id : 3354727999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what was Madhya Pradesh's rank as in 2015-16 in production of garlic? | 2015-16 & sl & SIgaN, Ted 1T
T ARG JeHIG U &1+ T F7 20717

Options:

1.9 1st | uger
2. % ond | gE0T
= % zrd | dET
4. % dth | =T

Question Number : 70 Question Id : 3354728000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which among the following states is ranked top in terms of cultivated area? | FgeET v=af A ¥ T AT FW &7 &
T # o e o¥ 27
Options:
1. % Madhya Pradesh | Hea 0
Z % Maharashtra | AgWIE
3. % andhra Pradesh | T3 0g9

4 ® Karnataka | ®e®

Question Number : 71 Question Id : 3354728001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The amount of assistance is made available to the beneficiaries of rural housing schemes by? | TITHIT ST

ArerTeIt o ATATIE! T AR AT Sl IS W U o ST BRI AT 57
Options:

1. # Paying themin cash | 3% =72 o0 Ry A &

2. % Through rmiddlermen | =il & areom &

Z. % Through Bank counters | €& @3t & ATegq &

4 Direct Benefit Transfer | Weay AT TT-TGe0

Question Number : 72 Question Id : 3354728002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Panchawat ExtEﬂSiOﬂ to Scheduled Areas) Act, 1996 transferred ownership of Minor Forest produce to
________ | U= (e A H e afafeam, 1996 7Y aq & Iougd a:-‘rm%—d________ F T T ST 3]

Options:
1. % Zilla Panchavat | F&1 /=T
2. % Ministry of Forests | a9 934

% % Registered Contractors | ToEd dhalt
4. Gram Sabha | TTH @47

Question Number : 73 Question Id : 3354728003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The MNaticnal Forest Policy (NFP) was released by Government of India in
TR ZRT o AT e TR am

____ | OEt ae e A # e

Options:

1. % 1978
2. ¥ 1938
3. % 1998
4 % 2008

Question Number : 74 Question Id : 3354728004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ir1 India, the Intensive Cattle Developrnent Project was launched by the Governmernt of India in
T TS Ty TR IR &R R o o & e o

Options:
1. % 1952

2. % 1954
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3. ¥ 1964
4 % 1989

Question Number : 75 Question Id : 3354728005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the fo?lomng is MOT a feature of Panchayati Raj in India? | FEWET § & 219 & 0% -7 # =4 O @t
TerdmaT g 37

Options:

1. ¢ Collection of mermbership fees frorm villagers | TTHITT  AEEAaT ek & HUZT

2. % 3 tier systern | T saEwT

3. % Regular elections in every S years | Wadw S oy § Fafia =7 9 941

4 % Reservation of seats for SC/ST/Wormen etc. | SET FTid | SRR STFarid | Aigersll Seaie o oy STl @7 e

Question Number : 76 Question Id : 3354728006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a mandatory function of a Gram Panchayat? | Fgieas & ¥ &= 97 08 W= @1
ENEEI i

Options:

1. ¥ Sanitation | Fegdr

2. % Drinking water | U

3. ¥ Small scale industries | @ JEAT

4. ¥ Maintenance of village roads | Td & AS®! & AAT

Question Number : 77 Question Id : 3354728007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which color tag is used for seeds certified by accredited agencies in India? | ARG H AFIGT WH =] & GRS
St o o Torey sty 27 a7 U= ToRr AT 27

Options:

1. % Elue | 5@T
2. % Red | @A

3. ® Green | B
4. % Yellow | ddT

Question Number : 78 Question Id : 3354728008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a plantation crop? | FEETET § § 19 9 t@es ®10 (G0 BEA) 57

Options:

1. % Wheat | Tg

2. % Mustard | wvHl
3. ¥ Rubber | @2

4. ® Gl seeds | Hega

Question Number : 79 Question Id : 3354728009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr many Janpad Panchayats are there in Madhya Pradesh? | A= nea # TorgAt U tam=d 57
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Options:
1. % 200-350
= % 251-400
3. % 401-450
4, #® 451-E00

Question Number : 80 Question Id : 3354728010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Anirnal Wellness Prograrme launched by Government of India in 2017 is known as? | @8@R gR12017 #
IO T T O] HA T wr e T o AT 6 S ST g

Options:

1. ® Pashu Swaasthya Karyvakrarm | 03 qamyd FEEd
2. % Padhudhan Upachar Yojana | TEH U= A1
3. ¥ Pashudhan Sanjivani | Taer &=

4. % Gau Upachar Yojana | T ST Jr=-T

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Cormnputer Knowledge

Section Id : 335472262

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472262
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following option can remove the borders in MS Excel? | oA § & 319 47 dwad, THTE 0Fad § aiat ®
BCT AT 27

Options:

1. % Press enter | Te¢ Ta™T

2. % Choose no border | AT S12T &7 =194 FEAT

3. % Use forrmula | WIEHFAT & IO

4 % Mot possible in Excel | U9dd § &9d T8l &

Question Number : 82 Question Id : 3354728012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
___________ i3 the brain of computer. | _____ THYIET FT HETTF 51dT &l
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Options:

1. % CPU | €I,
2. % MPU | THTR
3. % GPU | SR

4 ® RpaMj¥H

Question Number : 83 Question Id : 3354728013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How does a cormputer get infected by virus? | UF FHULLT, IRG 9 &6 GHHT 51 AT 57
Options:

1. ® when a firewall is present | Ja U@ BT0a1A JUEST 5T &1

2. % Wwhen antivirus software is active | T& Ue laT50d ATdeaaT Tided giaT 31
=, ¥ when downloading unknown software from the internet | T4 242 & ST AiFeday ST3-AE THAT AET &1

4 ® Eﬁm%n working on MS Office software in the local cornputer | STa &1 FHIIET H TATE AT STFa 0T 71
T AT T

Question Number : 84 Question Id : 3354728014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i)

Options:

1. ¢ Video Graphics Array (VGA) port | @i omitkerd R (D) 01
2 % Universal Serial Bus (USE) port | a6 S a6 (IO T
3. # FEthernet port | gtz UI¢

4. % FireWire port | BIEaEy T8

Question Number : 85 Question Id : 3354728015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Irn M5 Excel, ______ are numberad from 1 to onwards and JE— are numbered from A to onwards. | THUE
TR, T 1§ ST R ST R e T A & HHIT T ST 2]
Options:

1. ¥ Columns, rows | ®TAH, €
2 % Rows, slides | T, 9AESH
3. % slides, rows | gAGSH, U
4. ¥ Rows, colurmns | 3, FaA

Question Number : 86 Question Id : 3354728016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Inn M5 Excel, to add numeric values in column D, from rows D10 to D1E, the formula that should be used is: |

THIE UFaa 8, D10 R D15 &, ®iad D ¥ T 3o @ Fia- & 100, 50 BTaaT &1 Suai iy =7 e
Options:

1. % SUM (D10, D15

2 % COUNT (D10, D11, D12, D13, D14, D15)

3 ¥ SUM (D10:D15)

4. % COUNT (D10, D15)
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Question Number : 87 Question Id : 3354728017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Is it possible to print an e-mail? | FT SUE B HT e o 37 awaT 27
Options:

1. % Yes, it is possible | g1, 9% @A 21

2. % INo, it is not possible | 751, TF 9T 51 &1

3. % Print option not available | T s I =51 21

4. % None of the above | IWigd § 9 F1E 51

Question Number : 88 Question Id : 3354728018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the full form of ISP in computing terrinology? | T Jealdaa I 278 Tadr &7 quf &1 347 57
Options:

1. # Internet Systermn Programming | S2t-e eed W

= % [nternet Service Provider | Zod-1¢ 9iad HAEET

2. ® Internet Session Plan | S2¥-¢ 94 T
4. % Internet Session Programuming | et T4 TET

Question Number : 89 Question Id : 3354728019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where are programs and data to be used by the cormputer available? | BRI BN TETATA [T ST ETe FITTH T
22T T AL V5 77

Options:

1. ¥ Cutput | 3TYe

2. % Input [ g€

3. ¥ Storage | A

4 % processing Unit | WTETET T

Question Number : 90 Question Id : 3354728020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following function key activates the spelling in MS Excel 20077 | TAUE UFad 2007 # g # @ @
T T gt FUTeTT T Qiede Fedl a7

Options:
1. # FS

2. ¥ F7
3. % F9
4. % Shift + F7

Question Number : 91 Question Id : 3354728021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ev default Excel provides three worksheets. If vou need only two of thern, then how will vou delete the third

%11%3 | TEHTRE &0 &, UFde T ek siie Ua HaT 81 S T S 8 0 o T ATl 8, 7 0 o 1 R R v 2wt
Opti;)ns:
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1. ¥ Right click on Sheet Tab of third sheet and choose Delete from the context menu | F1RT T & fiT die Taw
15 Terer ¢ ST G rad o  TEeiie o oaa @
2 % Click on Sheet and from View menu choose Delete | diT o2 faeer w8 o g9 7 @ 1261 &7 799 =

3. % Left click on Sheet Tab of third sheet and choose Delete from the context menu | F1ERT 1T & T T 0 s
Tererer Wl A HeThd O 9 TEalT @ g @

4 % None of the above | IWRIFT § & F1E 751

Question Number : 92 Question Id : 3354728022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_____ 15 a srmall graphical representation of a program or file. |

Options:

1. ® Image | 509
2. ® Link | &

Z. % Button | =2
4. ¥ [con | TE®

_______ e TTTTH T WIS # 1 U /Y UThee Wia e g1

Question Number : 93 Question Id : 3354728023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The M5 Word 2007 docurment can be zoomed maximum up to ____. | TAUE 38 2007 STHEgHe ® ____ TF IE@aq
~IF T ST He T gl

Options:

1. % 150%
2. % 100%
. % 400%

4 & SO0

Question Number : 94 Question Id : 3354728024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Microsoft Officeisafan__________ | AR AT _ T 2

Options:

1. # Sharewars | ST

= ® Public-domain software | Tles-2 0T HFecay
3. ® "Open source software | 21U 9 AT

4 ¥ Application suite | TS T

Question Number : 95 Question Id : 3354728025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The World's first single chip microprocessor is

Options:

1. ¥ Intel 3086 | ed 5086
2. % Intel 8080 | 54¢d 8080
Z. % Intel 8008 | 547d 5008
!

4 ¥ Intel 4004 | 547 4004
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Question Number : 96 Question Id : 3354728026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A o ___ is a group of mdependent computers attached to one ancther through commmunication media. |

__________ TEAA T HYLT BT U G & A1 UF gAL 4 FHGHHAA BT & AT & 92 51 8
Options:

1. % Internet | geddT
2 % E-mail | g-Aa
2. ® Server | §dv

4. ¥ MNetwork | ST

Question Number : 97 Question Id : 3354728027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

a%mlch q%f the f@lln:-fmng will NOT cut information in MS Word 20077 | TAUH @2 2007 # MA@ & & @19 s
CiT

Options:
1. % Pressing Ctrl + C | Ctrl + C a0

2. % Pressing Ctrl + ¥ | Ctrl + X gamT
3. % Right clicking and select Cut option | 75T Ford F74T AT B¢ AT B Aelfe i1
4 % Select Cut option from the Clipboard group | ¢ fEwaT & el g & o8 @1

Question Number : 98 Question Id : 3354728028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is NOT a basic function of a cormputer? | a7 & & 397 U FHIET 1 07 T4 T51 o7
Options:

1. ¥ Copy text | THAT BT FAT

2. % Accept input | SAYE Fa N FEAT

2. % Process data | STeT UTET AT

4 % Store data | SRTHIR FAT

Question Number : 99 Question Id : 3354728029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘JPG extension refers usually to what kind of file? | ST Ugadss SHMT 0 9 3 TFR &1 BIed @1 dadd widl a7

Options:
1. % System file | *feH ®EA
2 % Animation or Movie file | Oi=Has a7 gt wEA

3. % M5 Encarta docurmnent | TATE TIEET 21FgHE
4. ¥ Image file | 77T BEA

Question Number : 100 Question Id : 3354728030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Windows 98 isafan______ .| fae=tT 98, uw

Options:
1. % Cperating systern | ST Feew
2. % Graphic systermn | Tk® &y
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% % Processing svstern | WETET Eey
4. ¥ Drawing system | STeT #eeH
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